V4S54Vl Competition Starter Kit

getStarted.vex.com

;
Electronics

Home =T

@-I

Drive

V5 Robot Battery Li-lon 1100mAh (1x)

Device Info Settings

V5 Smart Motor (4x) V5 Battery Clip (2x) V5 Robot Radio (1x)

V5 Robot Battery Cable (180 mm) (1x)

V5 Controller (1x)

300mm Smart Cable (3x)
600mm Smart Cable (1x) V5 Robot Battery Charger (1x)

i i for diff i
Short Flange (2x) Long Flange (2x) USB to Micro Cable (1x) 900mm Smart Cable (1x) Bumper Switch (2x) Adapters included for different regions

\_ W,
( _ )
M O t I O n ° Free Spinning Gear Inserts (16x)

Short Conveyor-Belt Insert (1 2><

L ]
12" or 24x Pitch Drive Shaft (4x)

H|gh Strength Gear Shaft Insert (26x)

(
4" Or 8x Pitch Shaft (4x)
3" Or 6x Pitch Shaft (4><)l

Chain Attachment Links (20x) Conveyor-belt Base Links (30x) Tank Tread Traction Links (25x)  High Strength Chain Links (140x)

Medium Conveyor-Belt Insert (10x) 2" Or 4x Pitch Shaft (4x)

Tall Conveyor-Belt Insert (10x)
12T Gear HS Insert (5x)
12T Metal Pinion (5x)
# 36T High Strength Gear (4x)

30T High Strength Sprocket (2x) 24T High Strength Sprocket (2x)

60T High Strength Gear (4x)

1

High Strength 12T Sprocket (2x) :

High Strength 6T Sprocket (4x)

High Strength 84 Tooth Gear (4x)

18T High Strength Sprocket (2x)

J

ff
Tools & Accessories

@ @ T15 Star Drive Key (4x)

Open End Wrenches (2x)

C D

S et #32 Rubber Band (2x) T8 Star Drive Key (2x)
|
L 4" Omni-Directional Wheel (4x) 4" Wheel (4x) ) . 4" Zip Tie (100x) )
J—————N\ A

S t r u C t u r e @ @ #8—32 Hex Nut (30x)

O oo o000 000000000000000000) ©) e 22mcn oo
RO RO RO RO R O R O IR R O RO RO RS R R G R R O I O RO IR O IR O R O R O R O R O 6 6 [OEII:II:IO] —

D D D D D D D D D D D D D D D D D D D D D D D D D 90-Degree Gusset Plate (4x) Q(Wset Angle (4x) Drive Shaft Bar Lock (8x) @
RO RO RO RO R O RO IR R O RO RO RS R R R R O I O RO IR O IR O R O R O R O R O 0x2 Connector Pin (6x)

D<>D<>D<>D<>D<>D<>D<>D<>D<>D<>D<>D<>DODODODODODODODODODODODOD
) < — 7 7

0 0D0D0DO0DO0DO0DO0DO0DO0DO0DO0DO0DO0DDO0DDODODDDDOOODOOOO O 000000000 00 0 0 0
R R RN NN SRR R IR SR IR IR IR IR IR SR SR SR SR SR SN SRR B 0o o0 0 o0 o0 000000 0 0 0

0000000000000 0DO0O0D0DO000O0ODOO0OOo (0 googdododdtdyy
N2 Y . 2 D . 2 U . . U 2 . 2 D . D2 U 2 D 2 D . 2 D o 2 U N ;Lminu;\mate;:% (4)(/) o v 0
( ‘ Star Drive Screw 8-32 x 1.500" Locking (4x) y V N V \
(:ﬂ Star Drive Screw 8-32 x 1.000" (27x) D D D D D D D D D D D D D D

O 0 0 0 0 0 0 0 00000
(:n Star Drive Screw 8-32 x 0.500" Locking (29x) Q n @ O D D 0O 0O O D D O O 0O D D OJ
1 Post Hex Nut Retainer (25x) Bearing Flat (25x) Shaft Collar (32x) 10 I I T
(:ﬂ Star Drive Screw 8-32 x 0.500" (25x) Aluminum Angle 2x2x14x20 (2
(:ﬂ Star Drive Screw 8-32 x 0.375" (50x) D D D D D v D D D D D M D D D D D e D D D D D
([:U Star Drive Screw 8-32 x 0.250" Locking (25x) o L D D D D D D D D D D D D D D D D D D D
1 Post Hex Nut Retainer Pillow Block Bearing (1x) Rubber Shaft Collar (23x) D D D D D A D D D D D N D D D D D ~ D D D D D

with Bearing Flat (35x)

Aluminum U-Channel 2x2x2x20 (3x)

Ol ...... C D000 0000000000000 00000000
o- Spacer 0.500" (13x -

o 0ogdggygugooogugouooodgggugooodgguoodggu
O 040 4dgogfodgdgoodgdggoonddoonooddg

.500" (13x)
o . 4 Post Hex Nut Retainer (27x) = = = = C-Channel 1x2x1x25 (2x)
Spacer 0.375" (14x) Vs V% V2 V2 V2 N
p 0000000000000 00000000000a0
o. Spacer 0.250" (20x D D D D D D D D D D D D D D D D D D D D D D D D
0000000000 00000000008000C0
o I Spacer 0.125" (8x) I - . . . Aluminum L-Channel 2x2x25 (4x)
H\D 0 0000000000000 00000000000O0O0O0O0OO0OGCOO0O O
Standoff 2.00" (40x) 1x1x35 Aluminum Angle (2x)
Standot 100" 8 C 0000000000000 00D0D0D0D000000O0O0DO0OO0O0OO0OO0O0O0OO0OO
0000 0000000000000 00O0O0O0O0O0O0O0OO0O0OO0OO0OO0OO0OO0
Standoff 050" (20 00000000 D0O00D0D0O0O0D0D0O0O0D0DO0O0O0DO0O0O0D0O0O0OO0D0O0O0OO0
\ — a d'rb a o a a Aluminum C-Channel 1x2x1x35(18x))

VEX and VEX Robotics are trademarks or service marks of Innovation First International, Inc. Copyright © 2002-2022. All Rights Reserved. VEX Robotics, Inc. is a subsidiary of Innovation First International, Inc.



